ADDITIONAL MATHEMATICS [YEAR 1995 — 2000]

FORM 4 CHAPTER 1 FUNTIONS
(ii) Find the values of ¢ if
1. Given the functions f :x — 3x+c and the gf_(g:if_l)__:__s_c:_ig: __________________
inverse function fl:x—>mx+%. Find : (a) ) gf :x - -2x -1 :
(a) the values of m and c, L (i) ¢ = "E or _3 |
(b) (i) f(3) bt T e -
Wire.

l(a) m = % c=—4 | S. Given the function g:x — px+qand
L) Q) 5 (i) 3 ! g .x_—>25x+48.
BT - (a) Find the values of p and q,

(b) Assuming p > 0, find the values of x

2. Given the functions f:x — mx+n, S0 that 2g(x) = g(3x+1) .

g:x— (x+D*and fg:x > 2(x+1)*-5.
Find '_{a)_ """"""""""""""""""""""" !

() p>0, himep=5,q=8
2g(x) = g(3x + 1)
2px + q) = p(3x + 1) + g

. - gx) =px + g .

(@) (_|_) the value of g*(1), ! g¥x) = gg(x) !
(i1) the values of m and n, : = glpx + q) :
(iii) of . | = p?}x +q)+gq |
[T T T T e N i L TPxTparq i
I(d) i) -3 4 (i1) m = 2,n=3 I {1“-"21‘1 gz(le = 95x + 48 I
i Gi) T i i haee p* =25, p =+5 i
T T T T T T T T - i pg +q =48 i
1996 1 p=s, |

| — |

3. Given the functions f :x— X*X , X#2 i 59 +q = 48 :
X—2 : 6g = 48 :

| - |

and the inverse function f: x — 2% _35 : i 7=38 i
X — : _ :

x = 3. Find I H_,i‘:;; 5; 48 I
(a) the values of h and k, : | 43 _ 48 :
(b) the values of x such that f(x) = 2x. i 7= 12 i
i i

i i

i i

! 2px + 29 = 3px + p + q !

4. Given the function f :x —2x+5 and : 10x + 16 = 15x + 13 :
fg:x ->13-2x | —ox = —3 |
(a) (i) Express, in similar form, the : ‘= 3 :
function of of , e O i

1 www.andrewchoo.edu.my



1998

7. Given h(t) =2t+5t* and v(t)=2+9t. Find
(a) the value of t so that h(t) =3,

|
J ]
1 4
T T T
| g
DO =/ et DD QO
L R R T
| S R EE S NS R

- (b) h(v),

The diagram above represents the (c) the value of h(t) when v(t) =110.
mapping if y onto x by the function e -
g:x — ay +band the mapping of y onto z i Given h @) = 2t + 52 and ;
- v(t) = 2+ 9t :
by the function h:yaﬁ, yig. Find () R = i
| c Ee2 |
(a) (i) the values of a and b. i ” j;:__ '.); 0 i
(ii) the function which maps x onto y. i 5t -3)(t+1) = 0 i
(iii) the function which maps x onto z. i 3 i
i t=g o t=-1 i
i(a) () g0)=ay+b i i(b) h[®] = h(2+9) i
' g2)=22+b=-2 .....(1) | i = 22+ 9) + 5 (2 + 92 i
hy) = i i = 4+ 18t + 5 (4 + 36¢ + 812)i
2y — b i i = 4 + 18t + 20 + 180t + 405¢%|
o8 : : = 405t + 198t + 24 i
M2 =33 =1 ; (@ u® = 110 ;
6=b-4 ; | 2+ 9 = 110 |
b=10 ... @ . 9t = 108 .
Cubttitute b =10 lnfp (D i ; ¢ = 198 _ 9 i
2a + 10 = -2 i , J , i

9% = 19 ; h(t) = 2 (12) + 5 (127
2= 6 ! ! = 24 + 5 (144) :
! ! = 24 + 720 :
(i) g'x) =y i I = 744 !
glx) =y | P -
gly) =x i i .
6y + 10 = x i 8. Given f(x)=6x+5 andg(x)=2x+3. Find
, o 10-x i (@) fg'(x)

) o 6 : (b) the value of x so that gf (-x) =25.
SRS - x i S .
g'-. 7 6 : H(a) Griven  f(x) =6x + 5 zflnf-rg(x) = 2x + 3
(i) Functin that divect x 4o 2 i @ Fnd &' it ;
%5 hg () ; . 74 gl x) = y ;
_ Mlo —x i i Hence gly) = x i
6 : 2y +3 = «x :
6 ! ' y = =3 !
TSN : e S R !
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Hence ') =

g.ﬂ . fglx) =

(i) Gwen gfi—x)

1

mwomw mnn

2 )+5
3x-3)+5
3x -9 +5
3x - 4

25

12x

ltence g [6(—x) + 5] = 25
25 - 6x) = 25

26 -6x)+3 = 25

10 - 12x + 3 = 25

13 — 12x = 25
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9. Given f:x—k-mx.Find

(@) f*(x) interms of k and m,

(b) the values of k and m, if
f1(@14) =—4and f(5)=-13.

(b) f-'(14)

fio =

k- 14
m

kR+4m =14

-4
= —4

fB)=-13=%k - 5m

k- 5m = -13

Colve the S‘imahranubm %uﬂ-ifon

m=3k=2

10.The function g is defined by g:x — x+3.
While the function f is such that
fg:x - x> +6x+7. Find

(i) the function of f(x),

(ii) the value of k if f(2k) =5k.

i () flx+ 3)
i

i fx)

|
|

2+ 6x+ 7 I
(x+32-2 !
x2 -2 |
|

|

|

|

|

U V|

| Gi) f(2k) = 4k — 2 = Bk

i 4k -5k -2 = 0

i p _ 5+ V5T 557
! - 8 ’ 8
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11.Given gl(x):¥ and f(x)=3x"-5.

Find
(@) 900,
(b) the values of k so that g(x*)=2f(-x).

(a) If ® = x 5
j hence g'(x) = y :
i 5—kx _ ,
| 3 = |
i thatis —kx = 3y-5 i
i . B3 i
i k i
i _ 5-3 i
i -k !
I = I
i Hence glx) = L}_kax i
E (b) gx?) = 2flx) :
i O3 _ 918 (w2 -5)]
i k : i
i Lo 582
i 2(3x*-5) |
i 1 i
i 2 i
12.Given the function f :x — 4-3x.
(a) Find
() 2(%),

(i) (F5)7(x).
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(b) Hence, or otherwise, find (f *)?(x) :(b) fx) = 4-3x
and show that (f?)™(x)=(f ")*(x). 4 —x

i
@)  f@) =4-3c | | 4J4—3x3' :
) i) = fA-30) 5 5 FH%x) = T
i fgx‘38(4_3x) i | _12-4+x |
i 5 RGO i i B 9 i
W f0 =y i i 8 + x i
: hence 31 () = x : : = "9 :
| 9 -8 = §+8 | | Hence (F! (x) = (f=)*(x) J
i S
i (i) = X8
i J i
i that is (F2)1 (x) = *+8 i
T - N _
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